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Part A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

Mrs. Harding herself was thin and frail but her son was a sixteen-year-old.

1) unbearable 2) verbose 3) sturdy 4) lethargic

Some tribes still the more remote mountains and jungles of the country.

1) forego 2) inhabit 3) ensue 4) aggravate

The of coffee brought Christine into the small cafe.

1) aroma 2) fragility 3) whim 4) badge

The client our proposal because they found our presentation banal and

unimpressive.

1) recognized 2) emulated 3) hailed 4) rejected

Immediately overcome by for the wrong he had done, I lowered him to the floor

and tried to apologize.

1) remorse 2) charity 3) stubbornness 4) esteem

A health inspector gave instructions on how to correct the problem; we all found

out how to handle the situation.

1) perpetual 2) rudimentary 3) explicit 4) trivial

| the cold I was getting by taking plenty of vitamin C pills and wearing a scarf.

1) vanished 2 )squandered 3) forestalled 4) penetrated

Why would lan want to claim his inheritance and then give all his money away? It was a
to me.

1) riddle 2) peril 3) glory 4) fragment

He was later accused of writing loan and deposit records, found guilty and

sentenced to three years of imprisonment.

1) essential 2) fraudulent 3) vulgar 4) witty

The question of how the murderer had gained entry to the house the police for

several weeks.
1) exhilarated 2) assailed 3) countered 4) perplexed

Part B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
cach space. Then mark your answer sheet.

Scuba divingis a form of underwater diving in which a diver uses a self-contained
underwater breathing apparatus (scuba) to breathe underwater,

Unlike other modes of diving. (11) _rely either on breath-hold or on air pumped from
the surface, scuba divers carry their own source of breathing gas. (usually compressed air),
(12) greater freedom of movement than with an air line or diver’s umbilical and longer
underwater endurance than breath-hold. Scuba equipment may be open circuit. in which
exhaled gas (13)_ ~ the surroundings, or closed or semi-closed circuit, (14)
is scrubbed to remove carbon dioxide. and (15) replenished from a supply of feed gas
before being re-breathed.

1) that 2) on which they 3) which 4) they

1) allowing them 2) they allow 3) allowed them 4) 1o allow

1) exhausts 2) is exhausted to 3) exhausting 4) be exhausted
1) where the gas breathing 2) which breathes the gas

3) the breathing gas which 4) in which the breathing gas

1) the oxygen is used 2) the oxygen used is

3) uses the oxygen to be 4) used is the oxygen



Passage 1

Turbulence in the ocean leads to mixing. Because the ocean has stable stratification. vertical
displacement must work against the buoyancy force. Vertical mixing requires more energy
than horizontal mixing. As a result. horizontal mixing along surfaces of constant density is
much larger than vertical mixing across surfaces of constant density. The latter, however,
usually called diapycnal mixing, is very important because it changes the vertical structure of
the ocean. and it controls to a large extent the rate at which deep water eventually reaches the
surface in mid and low latitudes.

16- What is the subject of the passage?

1) Vertical mixing 2) Energy needed for mixing

3) Where mixing happens 4) Mixing in the ocean
17- According to the passage, the cause of mixing is .

1) stratification 2) displacement 3) turbulence 4) water density
18- The phrase “The latter” in line 4 refers to .

1) vertical mixing 2) constant density 3) surfaces 4) horizontal mixing
19- The word “eventually™ in line 6 is closest in meaning to .

1) swiftly 2) ultimately 3) nearly 4) potentially

20- Which of the following questions is NOT answered in the passage?
1) What are some of the functions of diapycnal mixing?
2) What is another name used to refer to diapycnal mixing?
3) What requires that vertical displacement work against the buoyancy force?
4) Why is it that more energy is needed for vertical energy than is for horizontal mixing?

Passage 2

Earth’s rocky surface is divided into two types: oceanic. with a thin dense crust about 10 km
thick, and continental. with a thick light crust about 40 km thick. The deep. lighter continental
crust floats higher on the denser mantle than does the oceanic crust, and the mean height of the
crust relative to sea level has two distinet values: continents have a mean elevation of 1100 m,
the ocean has a mean depth of -3400 m (figure 3.5). The volume of the water in the ocean
exceeds the volume of the ocean basins. and some water spills over on to the low lying areas of
the continents. These shallow seas are the continental shelves. Some. such as the South China
Sea, are more than 1100 km wide. Most are relatively shallow, with typical depths of 50-100
m. A few of the more important shelves are: the East China Sea, the Bering Sea. the North Sea,
the Grand Banks. the Patagonian Shelf, the Arafura Sea and Gulf of Carpentaria, and the
Siberian Shelf. The shallow seas help dissipate tides, they are often areas of high biological
productivity, and they are usually included in the exclusive economic zone of adjacent
countries.

21- What is the passage about?
1) Earth’s rocky surface 2) Sea level
3) Sea-floor features 4) Continental crust
22- Which of the following is NOT used to describe continental crust?
1) Thick 2) 40 km thick 3) Dense 4) Light



23- The word “exceeds” in line 6 is closest in meaning to ‘
1) advances 2) surpasses 3) augments 4) matches
24- According to the passage, the volume of the water that goes onto the low lying areas
of the continents is .
1) greater than that in the ocean basins 2) equal to that in the ocean basins
3) forms most of water in the ocean 4) less than that in the ocean

25- The passage states that the shelves mentioned in the passage are marked with all of
the following EXCEPT .

1) biological productivity 2) weakening effect on tides
3) proximity to one another 4) economic importance
Passage 3

Mariners have known for at least four thousand years that tides are related to the phase of the
moon. The exact relationship, however. is hidden behind many complicating factors, and some
of the greatest scientific minds of the last four centuries worked to understand. calculate, and
predict tides. Galileo, Descartes, Kepler. Newton, Euler, Bernoulli, Kant, Laplace, Airy, Lord
Kelvin, Jeffreys, Munk and many others contributed. Some of the first computers were
developed to compute and predict tides. Ferrel built a tide-predicting machine in 1880 that was
used by the U.S. Coast Survey to predict nineteen tidal constituents. In 1901, Harris extended
the capacity to 37 constituents.

Despite all this work important questions remained: What is the amplitude and phase of the
tides at any place on the ocean or along the coast? What is the speed and direction of tidal
currents? What is the shape of the tides on the ocean? Where is tidal energy dissipated?
Finding answers to these simple questions is difficult. and the first, accurate. global maps of
deep-sea tides were only published in 1994 (LeProvost et al. 1994). The problem is hard
because the tides are a self-gravitating, near-resonant, sloshing of water in rotating. elastic,
ocean basin with ridges, mountains, and submarine basins.

Predicting tides along coasts and at ports is much easier. Data from a tide gauge plus the
theory of tidal forcing gives an accurate description of tides near the tide gauge.

26- The relationship between tides and the phase of the moon .
1) has been known since navigation commenced

2) was first determined to exist some 400 years ago
3) made a contribution to the advent of the early computers
4) is mediated by some factors whose contribution is not well known
27- What Harris did actually .
1) repudiated the achievements of the great minds referred to in paragraph 1

2) resembled a similar project that had already been implemented
3) was the root cause of the foundation of the U.S. Coast Survey
4) unraveled the secret of the relationship mentioned in paragraph 1
28- According to the passage, the questions cited in paragraph 2 5
1) are those that the great minds mentioned in paragraph 1 were trying to answer
2) are said to be questions that would remain unanswered for years to come
3) seem simple at first glance but hard to answer
4) have long obsessed human mind



29- Which of the following are TRUE about the basins (at the end of paragraph 2 - line

15)?
1) They are underwater, 2) Located on underwater mountains
3) They include ridges. 4) Hard to detect and study

30- The passage is primarily intended to .
1) criticize 2) inform 3) give warnings 4) offer a solution
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